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TEST - 32 (IPM 2021)

The Constitution empowers the Parliament to make laws on any matter enumerated in the State List

under which of the following extraordinary circumstances?

1. On a special reference made by the President of India

2. Resolution passed by Rajya Sabha to this effect

3. During a Financial emergency

Select the correct answer using the codes below.

A.1land 2 only B. 2 and 3 only C.1and 3 only D. 2 only

The significance of a cut motion lies in

1. Facilitating the initiation of concentrated discussion on a specific demand for grant

2. Upholding the principle of responsible government by probing the activities of the government

Which of the above is/are correct?

A. lonly B. 2 only C.Bothland2 D. None

With reference to some events of 2th CE, consider the following statements.

1. Bengal National College was set up with Debendranath Tagore as its principal.

2. A National Council of Education was set up to organize a system of education—literary, scientific and
technical—on national lines and under national control.

3. Swadesh Bandhab Samiti of Ashwini Kumar Dutta emerged as a popular method of mass mobilisation.

Select the correct answer using the codes below.

A.1only B. 2 and 3 only C.1and 3only D.1,2and 3

Consider the following statements.

1. The antipode of any point on Earth is the point that is diametrically opposite to this point on Earth’s
surface.

2. The antipodes of Australian territories lie in the Pacific Ocean, while the antipodes of African territory
lie in the North Atlantic Ocean.

3. There is currently no commercial aircraft capable of travelling between antipodes at full load non-stop.

4. At any given moment, there are at least two antipodal points on Earth with the same temperature and
the same pressure.

Which of the above is/are correct?

A. 2 only B. 1, 3and 4 only C.1,2,3and 4 D.1and 3 only

The opposition of the Age of Consent Bill among nationalists, including Tilak, stemmed from the

issue that

1. The age of consent as given in the bill was not appropriately set.

2. A colonial government should not dictate Indian social customs.

3. It was passed as an ordinance without discussion.

Which of the above is/are correct?

A.2only B. 2 and 3 only C.1and 3 only D. 1and 2 only

Consider the following statements.

1. The real exchange rate is taken as a measure of a country’s international competitiveness as it takes into
account purchasing power with respect to all its trading nations.

2. The real exchange rates are calculated by multiplying the nominal exchange rates by the price indices
of the trading partner countries.

Select the correct answer using the codes below.

A. 1lonly B. 2 only C.Both1land 2 D. Neither 1 nor 2

Which of the following revolts in British India, originating in the present region of West Bengal, were

organized around opposition to oppressive tax regimes of the government?

1. Sannyasi revolt 2. Chuar revolt 3. Kol uprising
Select the correct answer using the codes below.
A. 1lonly B. 1and 2 only C.2and 3 only D.1,2and 3 only

With reference to British India, consider the following statements.

The Trade Union Act, 1926

1. recognised trade unions as legal associations

2. secured both civil and criminal immunity for trade unions from prosecution for legitimate activities
without any restrictions on their political activities

Which of the above is/are correct?

A. 1lonly B. 2 only C.Bothland?2 D. None

With reference to the history of British India, who among the following major nationalist woman

figures served as the President of the Indian National Congress (INC)?

1. Sarojini Naidu 2. Kalpana Duitt 3. Nellie Sengupta

Which of the above is/are correct?

A. 1lonly B. 1 and 3 only C.2and 3 only D.1,2and 3



